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PARTS OF SPEECH

IMrections @

Each of the following sentences has a word or phrase underlined. Read the sentences
carefully and find which part of speech the underlined word i3. [ndicate your response on
the Answer Sheet accordingly.

1. The preacher said, “No cne 13 above 5. He has been living in the jungle for
the all powerful” long and he knows all the anim
he 2
Jﬁj Adverb _ o O
a) Subordinating co ti
(b) Place value () § pompune

{€) Preposition (b) Coordinating cornjun |:m
1§

&) Verb (¢} Preposition
{d) Personal

2. The most beautiful zeven monkevs of

the landlord were taken for a stroll 6. They h driving since carly
momsi
{a) Ohject %
{ B ¢ e
Adjech
) Ageesive dverb
(¢} MNoun phrase

Woun

e C)® (d) Comparison

3. Alac! He has been defeated Q 7; i e e woks: up b6 dhe: wles
{a} Adjective @ related diseases

Adverb {(a) Demonsirative
[I:!I Interjection b {by Aricle
{d) Cﬂ-ﬂjunc’g {c) Adverb

{(d) Noun phrase
4 Tim %ﬁi in the green shift is
8. Love your neighbour as thyself

(2} Noun

(d) Assertive noun (d) Adjective

Relative noun ;félj Franoun
@Qﬁc} Demaonstrative pronouns {¢) Preposition
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9, Ravi won the match with & huge 10. There was an exultation in the group
margin
N (1) Adjective
{a) Iniransitive verb

(b) Transitive verb (b} Adverb

fe) Adjectival Noun

{c) Demonstrative verb
(d} Adjective fd) Noun @
COMPLETION OF SENTENCE C)O -

Directions :

-
Following items have one part of the sentence followed by fﬂ@. Complete

the sentences by choosing the correct alternative.

11. Sheels has been at the receiving end 14. Unless o1 | the essential gualifi-
cati
Jﬂ} but she is very honest
(b and she is very honest will be ealled for the inter-
o view
L {(¢) she had been proud of it
(b) wvou shall be selected for the post
{d} she was fine with it 6
< ’ (&) wyou will not be called for the
.Hp" - 1
12. Elam has no other option 0 WLEEIEN
(a) unless he wins (d) you can't be rejected
{b) but to accept %ﬂ
15, The company’s bid for the contract 15 *
{c) :hnugh he hailmgu: rejected
{d) heh t the challenge {a) since it filled all the conditions
2. Al ' grn:nup has been scouitted (b) for the company fulfilled the
conditions

are under the watch of police

é ; (¢} for the company had not been in
\ they are free to do anything the goodwill Tist

{e) there is no suspicion in them

@ D since the deposit in the account is

C) (d) they have not been srrested found less than required
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16, 1 could not slecp {e) because you need

(a) because being very tired (d} although you want

) despite being very tired 19. If you had planned the work well
. X - (a) vou shall have completed it on
(c) in spite of being slecpless A .
(d) since being very tired (b} you could complete it on lin®
(e) wou will compleie it on -
17. She married him
) wou could have comgple on
(a) since his good nature time

beci f hiz natu
e} because of his nature g

»
{(b) because his nature 20, You can use m %r
Aa) as lo u can’t use any
(=]

(d) in spite s nature as you used any external

18. 1 will come to meet you (a)whs long as vou do not use any

pi‘-ﬂ ; : @ external drive
in case you wan
{(d) as long as you shall use any
(b) in case of time 0 external drive

OTH{I?{ YMS

Directions @
Each item in this cnsists of a sentence with an underlined word(g) followed by |

four words/ . Select the option that is nearest in meaning to the underlined
word and m response on the Answer Sheet accordingly.
21. Havi ited she opened up the 22, The inherent danger in the problem 15
% which led w lot of that it would lead to many more
problems
UPTO&F {2) outward
\ b) peace (b) difficult
Q {¢) sound (¢} hallow
C)@ (d) furious (d) inbuilt
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23, The officer wis reprimanded by the 27, Each  ¢hild  develops  his/her

court for delaving the case competency based on the contexts
and the mputs for leamning

',('&‘)" capability

(b} thinking

) admonished

{b)} appreciated

{c) praised

{c} knowledge
J:ﬂ' disliked
{(d) ideal O T

24, Some people think that their strength _
15 perpetual 28. He sppears (o be very haug
15 8 humble person

(a) temporary
(a) tough
(b) powerful @

(c) ever lastng

(d) all persuasive

25, One's actions exm'tElifg one’s attitude

and values

(a) devise @

(by sympathize O k&) diligent
Q (b} kmowledgeable

{d) inzincere

(c) asks for @
() indolent
Jn demonstrate @&

26. The crux of t was that there
Wi no ew - prove the accused 30, The indignant attitude of the speaker
guilty MG made the groups unhappy

ﬁ resentful

&
@E (b} congenial
Qx? idea (e} wnruly

(d) up (d} supportive
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O

& relief
@Q _ie) punishment

ANTONYMS

IMrecrions

Each item in this scction consists of senterces with an underlined word followed by four
words or group of words, Select the option that is opposite in meaning to the underlined
word and mark your response on the Answer Sheet accordingly.

31. His arguments are not valid, People
consider it bombastie

(2) outdated
4Ky straight forward
{e} werbose

{d) not truc

32. The decision was abserd for many of

the members of the team
{2) bizarre

{b) meaningless

{¢) reasonable

k) thoughtful

informed about the accident

(a) injured @
) alive &
(c) dead @
(d) survived
34. At last le 10 get some solace

a8 ger has been resolved

{d) eggravation

XVWS-LU-ENG - B

35, Twenty first century has turned out fo
be a century of problems contrasy
the thinking that it would be aJ

time
{a) similar 0

(k) different

.;Eﬂ’ divergent *
(d} good f&l@
36, The ; that poetry 15 2

overflow of powsrtul

@!} alerted
@ {c) deliberate
33. Relatives of deceaspd have m€)

(dy well exeouted

37. Languzge is an instrument for assering
one's identity, attitude and perspective

{a} declinng

(b) supporting

_,I-C’i denying

{d) propagating

38. He has been exonerated as he tendered

an apology

{a) honoured

_iky pardoncd

(¢} convicted

{d) felicitated




39. Persuasion is esscntial for people to
work as a team

{a} Dislike
(b} Discouraging

{¢) Convineing

/{d} Deter

CLOZE COMPOSITION

Directions :

group of words given. Select whichever word or group oWN

40. Every habitat has some
vegetation which  defines
system

(a) uwnigue
(b} common
{c) special

{(d) unfamiliar

the eca-

O(Q'

O

il

5 Fou consider the mosi

Each of the following sentences in thiz section has a hlank@ nth four words or

approprizte for the blank space and indicate your

accordingly.

It sounds like 41. (4) a
(h) an
(c)
(d)

when they hear

such 3. (a) any
(b) the

\ , {€) same
A a

(b)) in

v

g on the Answer Sheet

idka. People getting instantly excited

course in my institute. The idea of a course

0&0 44. (a2} to  ‘“peace education' had occurred to me on the way back from

) tor

@ (d) on
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one of the neighbouring countries where | met students of class IX. I could not find

45. ) any difference 46. {a) with Indian students
(b) the _.{-Ef between
{c) that {c) among
(d) this (d) to
and their counterparts in the other country on peace 47. (a) with

4B} and

{c) b

(d) Qt’ :
s

living together. It made me think that if one leams to live with a confligf

across it like prass 48. (a) or trees. The argumentsiand stances
fe)  for
(d) =mome
children took demonstrated 49, _ff) for v o comes from under-
(b) but
(c) th
{d)

standing a conflict well, not necessarily ‘ - 44 by solving it.
(b} with
O g
@ (d) for

OR e’ OF SENTENCES
DErections @

In this section each & sists of six sentences of a passage. The first and sixth
beginning as S1 and 86. The middle four sentences in each

senlences are @i
have been | d labelled as F, Q, R and 5, You are required to find the proper
sequence of th tenices and mark your response accordingly on the Answer Sheet.

£1. 81: M gressed with science R : Hitherto ke had been backward.

. ﬂff‘ﬂ- . S : He has reached the moon.
g7 as difficult and impossible
The comrect sequence should be

is how easy and possible
\6 He is on the road 1o conguer other g SRQP

planets. (b) RPQS
Q 0 : Now with scientific knowledpe
and technical know-how he has (c) RQSP
done what was impassible. 4d) QRSP
XVWS.-U-ENG - B ]




52. 51: We drnnk more water during
SUMMers,

There are variations i weather
conditions  during  different
SEAS0MNs.

+ On the other hand in north-eastem
slates, winters are mild except in
the hills,

: Because in North India, both the
58551018 have extreme weather
conditions,

86

: School ¢lothes during the summer
is different from the winter,

: Why do you wear lighier clothes
during summers and  heavy
woollen clothes during the winter
in north India ?

The correct sequence should be

{a) SRPQ
Ab) RSQF
() PORS 0
(df QPRS Q
53. S1: Policy, like many & s iva
complex ¢o q@

56: Public m[@ ¢ outcome of
the s een government
and Eroups.

) of govermnment control

y expressed in & law, a
slation, 3 regulation or an

»
v
Q\ Fublic policy 15 what a govem-

ment choosés 83 pguidance for

action.

K i A policy may be general or
specific, broad or narrow, simple
or complex, public or private,

writlen or umwritien.
& It takes different forms,

The comrect sequence should be

AT SR QP
(b) SQPR
© RSPQ C)
d POQRS %.
54. 51: The dho 118 & traditional
Eungf'— ent worm by men
856 tﬁ“ ji usually wore a simple

(&w with his dhoti.

Q) tis commonly warn with a loose
@ long tunic,

Qe

: This he started wearing afier he
abandoned his western attire of
pants and shirt,

R o A dhoti, made of homespun bhadi
cotton cloth, was the garment
Favoursd by Gandhi ji,

5 : The dhod is rectangular picce of
unstitched ¢loth, around five yards
lomg, wrapped around the midriff
and tucked berween the legs.

The comreet sequence should be
(@) PSRQ

(k) RSPQ
) SPRQ

(d) QRSP
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85, S1: Languages in comtact with each

other cause change.

S6: Changes often occur first in
informal and casual language.

F : The increasing use of English in
many parts of the world affect
both local languages and English.

O : Language contact has long been
recognised as a major engine of
change.

R : This gives rise to new, hybrid
language varicties.

§ : A historical example is that of
Danish and English which led to a
major shift in the vocabulary and
grammar of English.

The comect sequence should be
(a) RSQP
(h) QSPR
zf QRSP

(dy SQRP

O

%6. S1: Urbanisation in India ome
an important =raible

process.

S6: As per the India 2011,
the urban g on is increasmg
rapidl

development agenda
United Mations has

Kiﬁ:s for making cities inclusive,

\ safa, resilient and sustamable.
Q : This shows. that India is in the
midst of transition from a

predominantly mural to a guasi-
urban society.

XVWS-U-ENG - B 10
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R : The process of urbanisation has
been characterized by a dramatic
increase in the number of larpe
cities.

§ - It is an important determinant of
pational economic growth and

poverty reduchion.
The correct sequence should be @
(a) QRSP <:> :

(b} PSRQ

def SRQFP
(d) RQSFP

h of philosophy
fhe distinction
t and wrong (morals)

ultimate worth of actions
@mn g5 (values).
G966 But values can be either inherent

or confemred.

- Far many philosophers, only
humans are meral agenis; being
capable of acting morelly or
immorally,

Q : Environmental ethics asks about
the moral relationships between
humans and the world around us.

R : Ethics cvaluated the relationship,
rules, principles or codes that
require or forbid certain conduct.

€ + Value is a measure of the woarth of
something,

The correet sequence should be
) RQPS
by PQSR
i) Q5RF
d) RSPQ



06

The Constitution of India, intro-
duced on 26 January 1950, laid
down ceriain basic principles and
values.

The Constitution guaranteed all
citizens equality before the law
and equality of opportunity in
government employment.

P : It was also to be a federation with
demarcation of spheres of action
between the Union Government
and the State Governments.

Q : India was 1w be o secular and
democratic  republic with a
parliamentary system based on
adult franchise.

R : These include : freedom of specch
and expression, freedom 1o
assemble peacefully etc.

£8. S1:

S6;

S : It pusranteed all Indian citizens
certain fundamental rights.

The correct sequence should be

4] QPSR

b) RSPQ

(e PSQR

d}y SQRP Q

5%, 51: The National He alfcy 2017

gnvisapes a digital
health tech D-systent

56: Second £ financial pro-
tection 5 lakhs per vear per
Jfarg the deprived 10 erores

eholds.
man Bharat comprising
win missions is sel to transform
the nation's health system.

: This will also foster a linkape
across public and private health-
carc.

11

R : The policy ams at developmg an
integrated  health information
systermn that serves the need of
all stakeholder and mproves
officiency, transparéncy.

5 : This will be cammied out by
operationalising firstly 1.5 lakh
health and wellness cemt
offering preventive and pri
e O

The correct sequence shou

(a) QSRPF

(b) QRSP

‘ﬁ{RQPS
(d) SPR Q
ol EI.‘I::: 1 3:1::-1';.-' a.ru:l gengmphv

LU hers p-refeu- to mterpret  bio-
geopraphical  history  through

vicariance (range-splitting) evenis.

: Some historical biogcographers
are interested in finding centre-
of-ongins.

Q : Most species distributions result
from a combination of all these

factors.

R : But biogeographers tend to
specialise in ccological aspects
(ecological biography or historical

aspects).
S : Ecological biggeographers are
interested in the effects of

environmental factors.
The comreet sequence should be
) QR3P
{(b) RQFPS
(t) PQRS
(d) SPRQ
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FILL IN THE BLANKS

Divections :

Each of the following sentences in this section hasa blank space and four words or group

of words ate given afier the sentence. Select t
for the blank space and indicate your respon

£1. He said that he when he
lost all his investrment in the gtock
market

{a) was broken
i) was broke
(c) brake
{d)} had been collapse
62, The man in black thought that he was

selected for the team o
play at the national leviel

{a)
b
(<)

one of the playver
ane of the players
is one player

O

(dy the player of the team Q
63. When she @ after a

perid - of twao d het  throat

choked

(a) megls

a5 et

(o) hb eeting
portrait of the lady conveys

& i

{a) the best
() more than

XVWS-UENG- B 12

he most appropriste word or group of words
se on the Answer Sheet accordingly.

fe) the rmost

(d} nothing

65. A biography 13 Ql'mn's
life history @ *

_id) about a
; “25@
6

She told me that she her
degree by 2023

{a) will bave eompleted
(b} shall be completed
fcy will completed

J# would have completed

67. What is the name of the person
daughter married your
cousin last year

i@l whose
(b} who
(¢) whom

{d) with



68, The world is changing (¢} would have
that the rich become richer and the
poor become poorer {(d) ought to have made

(a) through
. 70. Indian perspective of life informs that
(b} i many way

leading a life of preed in
{c) in a way unhappiness
Adi in such a way {a) will lead
69, Had I been informed beforehand, I (b) shall be O -
it to the celebrations
Jﬁ{muld have made A0 WAL rEauE ¢
(b) will have made {d) would resu
COMPREHENSION
Directions :
In this section you have two short passages. After ea . you will find some items
based on the passage, Read the passages and m*.ms based on therm, You are
required to select your answers based on the of the passage and opinion of the
author only.

Conventional educartion makes in 1L thinking extremely difficult. Conformity
leads to mediocnty. To be l:Iiﬂ." the group or to resist environment 15 not casy

and 15 often risky as long as ship success. The urge to be successful, which is the

pursuit of reward whet aterials or in the so-called spiritual sphere, the scarch
for inward or nurwardi . the desire for comfort —this whole process smothers

discontent, put 2 nn:anﬂit}' and breed fear; and fear blocks the intelligenmt

understanding of mr:r-:asing age, dullness of mind and heart sets in.

In secking ¢ generally find a quiet corner in life where there is a minimum of

conflict, an we are afraid to step out of that seclusion, This fear of life, this fear

uf stru of 2 new experience, kills im us the spirit of adventure; our whole
education have made us afraid to be different fiom our neighbour, afraid

& ntrary to the estzblished pattern of society, Talsely respectful of authority and

na:e[:,', there are a few who are in earnest, who are willing to examine our human

E:ms without the prejudice of the nght or of the left; but in the vast majonty of us,
E there 13 no real spirit of discontent, or revelt. When we yicld uncomprehendingly to

environment, any spirit of revolt that may have had died down, and our responsibilities
soon put an end o it
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71. Why does conventional education {b) Becausc they seck pleasure

make independent thinking extremely - :
difficult 7 _keT Because they seek comfort
d) It does not encourage disagree- {d) Because they do not worship
ment SUCCess
(b) It does mot accept conformity
(e) It is not fact based, but problem 74. Which word in the puscage means
based *bias" 7
{(d) It is only religious education (2) 46a
72. Worshipping success leads to e O '
(a) questioning the established prac- ﬁ il ’
tices {¢) uncomprehendingly
b)) :li::pﬁng the established prac- (d) disconitent .
() :Il-j:iif}rmg rig Gl o 75, The word “unc reendingly” in the
(d) neither accepting nor rejecting e mtm
the established practices (a) Ac 85
73, Why do most people want to find a (b} £ Money
quiet comer i hife? 3
out knowing

(2) Because they do not like to be in

peace Vith complete knowledge
=l
MNoise is a common problem in b nd rural areas, traffic noise in particular, Trees
and shrubs are not only vis»ﬂ%ctiw but also can make effective noisc barriers.
Therefore when space ve 1o plant more trees and shrubs in areas where
there is noise problem. BS g/this noise can be reduced by six decibels over a distance
of 30 metres. @Fw -
The only thing wehave p in mind is that the planting should be particularly dense;
the trees which % dense foliage and relatively vertical orientation of arrangements
should be pldnted T will completely screen the source of noise. If there is any gap in

-1 'I'I' allow noise to penetrate. Single layer of trees is worthless as a noise
o inter-reflection, multi-rows of trees are more effective. The planted trecs
. We can reduce noise level by 1.5 decibels with each additional 3 feet of

N the opporiunity 1o use trees is restricted a combination of shrubs and tall grass can
: used, Tnstead of tarmac or gravel surfaces sofl grass ground cover is preferable. It will
0 sbsorb noise rather than reflect it. Rows of trees, shrubs, crotons, ground covering plants,
@ climbers and their flowers not only reduce noise and provide a beautiful backyard they
O also help block wind, provide shade, and absorb traffic pollution,

XVWS-U-ENG — B 14




76. What distance a pood number of trees
Can cover in reducing noise 7

..{ﬁ‘jr 30 metres
(b) &0 metres
(c) 3 metres

(d) 300 metres

T7. Trees can reduce noise only when
(a) planted in isolation
(b) planted with flowering shrubs
,Ef."f'- they are planted dense
{d) planted with shorer ones
78, 'Single layer of trees is worthless as a
noise barrier.” Why 7
(a}) Noise can't penetrate easily
{b) Help in the growth of shrubs

{c) Noise iz sent back to the source

I{dﬂ[’ Noise can penetrate easily

80. How do shrubs m%& reduce

9. Higher the trees
{a) higher the noise
,.fﬁfl lower the noise
{c) preater the decibels
(d) thinner the air

noise 7

,M They ab not
(b} ‘ noise
{c) IVert noise

{@ry are neutral to noise

ORDERING OF wﬂR‘bs A SENTENCE

Directions :

Each of the following items in
been jumbled. These parts hdve

81. consideration

ion consists of a sentence, parts of which have
labelled as P, Q, R and S Given below each

sentence are four seq 1y (a), (b}, (c) and {d). You are required to re-arrange
the jumbled parts of the ce and mark your response accordingly.

for seif-gratification  freedom does not mean the opportunity

c.’@om
5\'@-:: 8 PR.
Q ) RPQS

rRQSP

O

R
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82. ofany kind to freedom and intelligence domination or compulsion
P Q R
15 a direct hindrance
S

G RPSQ

(b) RQPS
) SPQR @

(dy QREF

P Q E 5

83. enough potassium, banana provides from various sugars  and sustained ﬁg)

(@) PQRS

t) RSQP @
(c) SQRP 6
QPSR

.= one virus threatens
S

84, of great rouble this is atime  the world to t

N %
(a) POSR
(}) RSPQ QCJ
(¢) SRQP s\@

Jd QPSR @
85. are of the opinion hamlugists and that everybody enjoyed equal status
-

P Q R
that Hara ity had no rulers,
v\ S
NG ROR
QPSR

@ d) RPSQ
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86, in the same locality marriage within a unit endogamy refersto  or a group living

P 0 R
(8) QRSP
() RSPQ
(c) QPSR
M ROSP

5

P Q

87. when steam engines dominated industrialization coal was the main source @

of encrgy in the initial stages,
8

fa) SPRQ

4T RSP Q

) PQRS

(d) QRSP

B8. from the scientists 7 is the information  that comes
P Q R
a) QSPR

(b)) QRSP @,
4y SQRP @

{d}) SPQR

89. brought on by des-l:n.tctive pests have suffered  frustration and food losses

Q

since l:aﬂl::st tirnes; &@

M5 srqn
() QRSP
LFSOR
(@) R

R

cular gold coins  some of the the Gupta rulers in India  were issued by

P Q R

RSPOQ
Q QPSR
@, () PQRS

(d) SPQR

~ 5

s
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PREFPOSITION AND DETERMINERS

Directions ;

Each of the following sentences in this section has a blank space with four optiens. Sclect
whichever preposition or determiner you consider the most appropriate for the blank
space and indicate your response on the Answer Sheet accordingly.

91. Don't go the wind, you will
face the music later.

A4y with
(b) for

(cy about
(d) between

92. He has been considered

honest contestant in the competition.

95, He is all out to blame everyvome
his mistakes.
i) for 0

(b) in
{c) on *0
(d) with @

96, This is ique system of
EOVErmanc everyone s the
governm

Jal an ) @
e oy
{c) the (é 3
(d) one @ (d) some
93, Don't read the lines. C) 97. 1 will take care myself.
the lines. @ You don't bother about me.
(@) in s@ o of
B} between @ (b) about i
o) o8 6 (©) for
d) off
(d) by Q (d) o
: : 98. She is considered
94. The vile e ¥eCIL nightingale of the colleze for her
e melodious voice.

{e] an

{d} the

O
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99, The room is a bit dark. Could wou 100. Don’t walk so fast! | can't keep

please tum the light 7 with you.
..{ﬁ{ an (a) in
(b) in (b} upte
{c) off {e} wup
(@) away ) on @
SPOTTING ERRORS OO -
Directions ;

Each item in this section has a sentence with three underlined p
and (c). Read each sentence to find out whether there is any erro

and indicate your response on the Answer Sheet against the cor ing letter i.e., {a)

ar {(b) or {c). If you find no error, your response should ated as (d).
101, He had been doing  the job of a physician during the » Mo error,
{a) (b) (d)
102, Hesaid that he preferred  coffee than tea Qr.
(a) (b) LeT &)
103, All that glitters arenot gold. N@e
@ (b el
104, A species is mnsidem@emd when it is
() A (b)
in a very high rigl ction in the world. No emor.

Q <) ("

105, Ous glory 1% not in never falling  but in rising every time we fell.  No error.
K (b) ley” (d)

@gmm is anessential modes of communication

(2) 10

@Q and every language matiers in communication.  No error,

(e} {d)

O !
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107, The matter was been resolved after lnng_de!ibcmtiﬂns
_’[df (b}
among the members of the team.  No error,
() (d)

108, Care has been taken to ensure safety and security  of the participants in the event,

(@) (b) (c) )
No error. :
Oo '

109, Indian film industry  is considered to be- one of the symbol of cultural il life.

(a) {b} i
Mo emor,
g QQ)
110, isstill true  that the Indian economy  is dependepg & ‘ﬁ nsoon.  No emor.
(a) (b) T
IDIOMS &msm
Direciions »

N C ‘ 'u {d) which is the most appropriate expression and mark

YOUr response in E ‘4‘ er Sheet accordingly.
111, Be in eclipse 112. Ways and means

{a) I:esa (a) A technigque
&mg happy (b) Methods of achieving something
\ et Norms and regulations of doing
successful something
,E‘I;H Being defeated {d) Improving one’s way of doing
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113. Up in arms 117. Spiff up

_(a}l/"'-"er}' happy {a) To make oneself look neat
(k) Very satisfied (b) To make oneself look untidy
(c) Very angry {c) To make oneselfl look arrogant
d) To appear on the stape
(d) Feeling fine () s g &
144, Big ticket 118, Run wild
(a) Very less {a) To run like a

(b) Very costly (b) To u@ ]ll:E a  wild

c) Very eas

T (c) To ild animal

(d) Not much w w|r_hu.ut any control
115. Bolt from the blue ()@ A down

ﬁ An event or piece of news which (b (a) To relax after a period of activity

i is unexpected
@ () To act furiously after a period of
(b) Desirable event or news Q L e
(c) An event which takes p as (c) To speak out the truth to people
planned
{d) To act on the ground
(d) News whic been long .
expe ’ es late 120. Mellow out
(a) To feel bad about other’s enjoy-
ment
and (b) To like and dislike people
concurrently

\'03 Abide by law and order {c) To enjoy oneself without doing

mich
(c) Ask others to follow the law

@0 (d) To work hard and doing much

(d) Create law and order for others work
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